SHl6FE SN HE T LEE TETE (B) ﬁ*‘l' 4

XA _ (EEAT 2 )
= Iz B R6 B T2 |R6ZETE (&) S Bz
1 &8 1 &8E% 1 8% 50,527,000 50,527,000 N ESECE 3 R
14,000,000 14,000,000 o[itBEERAS
8,800,000 8,800,000 o[xHT—F>/\mx
27,155,000 27,155,000 W ERL]
572,000 572,000 O|HRBIAT (Fr w1 L ZRFEAL)
2 fEiE 1 1@EiE 1 @i 6,497,000 6,497,000 0
6,497,000 6,497,000 O|ttugi T« —5 — R WHE (FE)
3 ENE 1 fgtse 1 fgte 0 2,442,089 2,442,089
4 FEINA IEZON 1 #gA® 2,393,000 o] A 2,393,000[EIFRISETTEN SEAS
2 [ILEUNA 360,000 360,000 0
3 HUNA 724,000 723,911 A 89
723,000 723,000 of TERFE] 7TUBREBIESD
1,000 911 A 89|FIFUNA
IRA &% 60,501,000/ 60,550,000 49,000
dan) _
S Jiz] =] R6 BT E |R6ZETE (=) T2 B
1 EHE 1 R eEE |1 oxa 0 0 0
EZ S 150,000 150,000 0
140,000 140,000 O|S=muts
10,000 10,000 O|FEHBIEE
2 BEH 1 SEHEE |1 B axs 59,461,000 59,461,000 )
56,718,000 56,718,000 o[EiTxE
2,171,000 2,171,000 Of TERFE ] PTUHRTFRE
572,000 572,000 OlFrv a1l RFEAE
2 M E 0 0 0
3 LR IEE 890,000 890,000 0
835,000 835,000 0|E&=AS 1 I RENR
55,000 55,000 O| AR HERE
4 88% 0 0 0
3 Fiw 1 FlRE 1 ¥ lRE 0 0 0
4iEu % 18vse 1Bavs 0 49,000 49,000
xSt 60,501,000 60,550,000 49,000

SH6FE SRS NHETE EEE BRI ZBEFE ()

2 R6 S¥ITE [R6ZETFE () ] o=
iR 20,807,800 | 20,949,539 141,739
BAE 0 49,000 49,000 A fB1E 5>
MU 200 461 261 | FIFULA
IRA&ET 20,808,000 [ 20,999,000 191,000
X
R6 S¥TE [R6ZEFE (2) &% IS
gHE 2,393,000 0 A 2,393,000
fednar=1-1) 2,393,000 0 A 2,393,000
UNABEET ZHEET R6 FEXRFERS

20,999,000 - 0 = 20,999,000



